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qm&;gaﬁﬁgﬁw@zﬂﬁgqﬁﬁw l]l. ‘In  which year Mansingh wag

appointed subedar of Bihar ?

o mam oy 2 l
(1) 1587 AD
(1) 1587%. |
] (2) 1588 AD
(2) 15887%, ,
; (3) 1589 AD
9%.
9. 158 ,’ (4) 1585 AD
(4) 1585%. ,
Er=ro. HIfesRy %) I wHE) 3 l} 2. Mlatch the folllowing writers with their
AR AR . rulers and select the correct answer
bt ™ % A wh | from the codes given below : -
£l %H@IQ:
S f (Writers) (Ruler)
@) () ’, A Muhnot I Maldeo
Nainasi
A, gEuig duft Aoty :
_ ,l B Mahatma II Raisingh
B. mgrems@s 1L Tafig | Narsen
C. afy I sog=fiz | C Atr I Jaswant
. ' | Singh
D. Hﬁam Iv. TToT ” D  Muni Jaita IV Rana
ETE ’ Kumbha
A B ¢ p ’ Coies. 5" 87 .
MIv m | q | DNV m o g
2) I IV 11 I ’ ()
( | @ 0 v g
W Ty @ | G m 1 v q
@I 1 m qy | @I 0 oy
|
%W’Wﬁﬁﬁwﬁﬁﬁ 13. Wlhe.re was the ‘tVedic Yantralya”
il | printing press established 2
T | (1) Udaipur
(1) g | |
o) E ’ (2) Ajmer
(3) dwrR ” (3) Bikaner
() | 4) Jaipur
IR

2 00
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Fretifie T 1 o i @ g

e T i fed T e | T ITWH
=4 $hifse ;

(1) (smfer)
A T I TR
B. Hied II. %mwe
C. =ft . s
D. dgaet V. Tl
QE:

A B C D
() IV I II 1
@ 1 v 1 I
3) I m v 1
4 un 1 m 1

ToreT <6l R st & wafRa & 2

(1) Hare
2) "RaTS

3) gard
(4) HaTdt

ToreT el H TSR % JUH Hid

P8 T ST R ?
(1) e foer
(2) HeTS GF
(3) evid Aureht
(4) g Tt

Match the following dances with their

caste and select the correct answer by

using the codes given below :

(Dance)
Rye
Mandal

Chari

o O W >

Terhatali

Codes :

A B C
(H) Iv. 11 I
2 ur v I
3) I mr 1v
4) I I 1

(Caste)
I  Gujar
II  Kamar
III Bheel

IV Garasia

II
11
v

‘Dhatki’, ‘Thali’ and ‘Khairadi’ sub-
dialects are related to which dialect of

Rajasthan ?
(1) Mewari
(2) Marwadi
(3) Dhundhari
(4) Mewati

In Rajasthani poets, who is considered

to be the first poet of the Renaissance ?

(1) Suryamall Mishrana

(2) Meghraj Mukul

(3) Muhnot Nainasi

(4) Prithviraj Rathore



gafera $Hife w@ A9 i@ ™ 52 @ 7@

IR T T HINT :
(@fier)

A. TfewEl

B. guelis foge

C. Effwg

D. ER&MY

%

A B C
(1) I IV 1
2 1Iv 1 11
@)y m 1 1v

(4 I 1 I

ordt s, = § @ foew gmER-T @

gt oft 7
(1) i SR

(2) TNYd TN

(3) TSEIH GHMER

(4) TR TEH

(T )

III

II

IV

T —— ————— S———

7.  Match and select the correct answer by

using the codes given below :
(Musician) (Composition)

A Chand Khan I  Rasamanjari

B Pundarik II Ragchandrika
Vitthal

C Devarshi III Sangeetsar
Bhatta

D Dwarkanath IV Swarsagar

Codes :

A B ‘C D
! IV 11 I
@ Iv 1 1 I
@ o 1m v 1

4o m 1 1V

8. Moti Begum was associated with

which of the following newspaper ?

(1) Jaghit Karak

(2) Rajput Gazette

(3) Rajasthan Samachar
(4) Khairkhwahe Khalaq
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10.
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frifeRa el &1 I ASH & HIE 9§

- gifera Hifve @ = @ T 5@ e H

=74 Hifse

()
A. TR I.
B. SumTan I1.
C. wqsk 1L
D. feuft IV.
%:

A B C D
() m 1 mIv
@ 1v 11 1 1
3) 1 mr v 1
4 I v m I

o St Ty fra fedel @

gEfRa e ?

(1) Hare edt
(2) WRETS et
(3) rgrdt Aeh
4) o5 Aeh

o ——— ——— e —Ta—— i A i —— ——— T — T ——

9.

Match the followings fairs with the
month of their event and choose the

correct code given below :

(Fair) (Month)
A Pushkar I  Chaitra
B Jeenmata I1 Bhadrapad;d

C Bhartrihari Il Kartik
D Diggy IV Shravan

Codes :

A B L D
() mr I n 1
2 1Iv 1 I I
3) I m v 1

@ 10 Iv I 1

‘Pratikraman churni’ Granth is related

to which style of painting ?
(1) Mewar style

(2) Marwar style

(3) Hadauti style

(4) Dundhar style



11.

12,

e e =1 39

ferrdtefl/swiieht @ gafera i wa =

&2 T e @ T I 1= Hif

EITEE N GCEETR)

A. fasma .  «dcd,
AT 3Tl

B. 31X II. wfgss,
HaH Iz

C. R . e,
STHATETH

D. fewrre  IV. Horm,
Hfrera=

% :

A B D

() I 1 1A%

21 IV 11

(3) IV I 11

4) 11 1 I

TGS YSTHUSH 1 TEATA ST Haf

TeqTue e mam o ¢

(1) fecitee

(2) 33X

(3) IR

(4) fiearen

—— T — ot Tt e Y TR LA i st

11.

Match the following painters with their

style/sub-style and select the correct

answer from the codes given below :

(Style/Sub-style)

A Tijara

B Alwar

C Jaipur

D Kishangarh

Codes :

A B C
(1) mr 1 II
2) 1 IV 1
3) 1Iv 1 I
4 o 1m 1

(Painter)

| Baldeo,
Gulam Ali

IT - Sahibray,
Muhammad
Shah

Il Nandram,

Jamunadas

IV Moolraj,
Bheek
chand

D
IV
II
111
I

Where was the temporary office of

Mewar Prajamandal established ?

(1) Chittorgarh
(2) Udaipur
(3) Ajmer

(4) Bhilwara
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14.
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16.

17.

<1t & fpam i 3 ‘gver M’ T
T TS gferd & Tt | i WG g3t
qr ?

(1) & a6

2) Terrarsht urhs

(3) T ofied

(4) wTerE rera

frifera & @ B 91 W& FedETE *
gg 8 RN Yard s fererft wwar & 2
(1) TSI

(2) TSTIH™

(3) SPTdte wfer ywfed

(4) FEaft

TERIST HfE 6 9eg el g3 oft ?
(1) sma
(2) feEr
(3) e
(4) WEWTY

I fomre e Ty fepashl T 8 7
(1) IFTER TR

(2) TEETE

(3) BAFaId

@) o

1818 & @fr & uvarq fafew foieh
TS T g¢ TR & fpd Agrmen 3
afdd: g=mE & faam on ¢

(1) wERrS SaAfdiE

(2) TR T

(3) RIS gEAfdiE

(4) wERIST AHE

l
|
I

i
|
|
I
|
|
l
|
l
|
|
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14.

15.

16.

17.

Who was shot by state police during
peasant movement of Dabi and got
martyred while singing the ‘Jhanda
geet’ (flag song) ?

(1) Rupaji Bakad

(2) Kirpaji Dhakad

(3) Nanakji Bhil

(4) Balmukund Peelwa

Which of the following evidence
establishes Maharana Pratap victorious
in the battle of Haldighati ?

(1) Raj Prashasti

(2) Raj Prakash

(3) Jagdeesh Mandir Prashasti
(4) All of these

Where did Maharaja Mansingh die ?
(1) Bengal

(2) Bihar

(3) Orissa

(4) Maharashtra

Whose work is titled ‘Prem Vinod’ ?
(1) Ajabde Panwar

(2) Hansa Bai

(3) Chhatra Kunwari

(4) Kiran Devi

Which Maharaja of Jodhpur finally
retired after the treaty of 1818, having
anti British sentiments ?

(1) Maharaja Chhatra Singh
(2) Mabharaja Takhat Singh
(3) Maharaja Soorat Singh
(4) Maharaja Man Singh



18.

19.

20.

21.

“fifedt =1 dster A T fpaeh =
27

(1) SR 9

(2) T I

(3) Taafag it

(4) T St

ferstifera fosm =1 Semges S o7 ?
(1) & HyerE
(2) TP WAR
(3) TE Miaeg™
(4) ITH FwRiE

T T A9 FHER-TF & §H
o ¥ O fohe A | R gan ¢
(1) 5

(2) T HEd

(3) R TS

(4) T

ToeE 6 fEmEal & whie &
TS 31 &

. 3

II. 3GIR

11 StEemr

IV. 37T

(1) LILILIV

() 1,111, 1V

(3) ILILIV,I

(4) ILIIL LIV

s o s i e ] L e o o S o T

18.

19.

20.

21.

Whose

‘Peedito ka Pancheeda’ ?

composition is the song

(1) Jai Narayan Vyas
(2) Naynu Ram Sharma
(3) Vijay Singh Pathik
(4) Shivraj Joshi

Who was the founder of Bijolia
thikana ?

(1) Rao Keshavdas

(2) Ashok Parmar

(3) Rao Govind Das

(4) Thakur Krishan Singh

After the closure of the newspaper
named ‘Naveen Rajasthan’, in what
name it was published again ?

(1) Pratap

(2) Rajasthan Kesari
3) Tarun Rajasthan
(4) Rajasthan

The ascending order of integration of
Princely states of Rajasthan is

I.  Tonk

II. Udaipur
III. Jaisalmer
IV. Ajmer

(1) LILIIL IV
2) 1L LIOL IV
(3) HOLILIV,I
(4) ILIL LIV
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00

TSR 1 9aid <ifeai & THg i 3!
SEE % STIER IFeEl wH H =atd
Hif ;

(1) |, S 9efa, 7 9aTS, feretredt
(2) IR, AT YRS, SR vad, foereh
(3) foereht, g wda, Fm were, GRw
@) fererett, amt v, SR e, "R

I 1 AT T & 7
LG HETH el

(1) €919 —  Hel

(2) & - @rft

(3) wef g - 3y

(4) =T ~ AR

gefl-1 &t FEh-11 & ghfea v aik

Hr e e & Tt I 1 =9 i ;
et -1 et - 11
(Rrem) (3fier)

A. IR i.  ¥amg "R

B. FWR i,  gHIS

C. Sug iii.  ® AR

D. JEe iv. 7l grR

%<

@) i v i i
(G) i oiv i i
@4) iv i i i

| 22.

I

s Vo o e e e S— i . g T A st

23.

24,

Select the correct group of mountain
peaks of Rajasthan in descending order
of their height :

(1) Sayra, Dora Parwat, Nag Pahad, Bilali
(2) Sayra, Nag Pahad, Dora Parwat, Bilali
(3) Bilali, Dora Parwat, Nag Pahad, Sayra
(4) Bilali, Nag Pahad, Dora Parwat, Sayra

Which is not a correct match ?

River Tributory
(1) Banas | —  Kothari
(2) Luni —  Saagi
(3) Kali Sindh — Ahu
(4) Mahi —  Waakal

Match the list-1 with list-II and select
the correct answer from the codes -

given below :

List-I (District) List-II (Lake)

A. Ajmer i.  Pratap sagar
B. Dungarpur ii. Bujh lake
C. Jodhpur iii. Foy sagar

Jaisalmer iv. Gaib éagar
Codes :

A B C D
(1) i i v
(2) it v i ii
3) iii v il i
4) iv i il i

o



25.

26.

27.

28.

= o @ TR a4 e e 1 98 ue
ST E ?

(1) AR
(2) Tt
(3) HIA

(4) 3L

I o ifeRtor & AR = § | o
e T Aw’ TepR ot STerary arft Swdt & 7
(1) Wag T 3R

(2) STEATS] T HTAETS

(3) ©¥eR Td AR

(4) TIATG T SRR

el 1 qRTfeAt wm &

(1) AT T T

(2) el A

(3) ®rErdl TS

(4) <h s =

I 1 GAferd TE & ?

(1) Jg99d - TN 6l vaTfeEl
Q) T T - e vaIeAt
(3) IR AG  — S yRISAl
(4) AEITE - WHAR ) gEIeAt

I
l
|
I
|
l
l
|
|
|
|
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23.

26.

27,

28.

Salar forests are not found in which

among the following district :
(1) Alwar

(2) Sirohi

(3) Kota

(4) Udaipur

As per Koppen’s classification

districts having ‘Aw’ type of climate

are —

(1) Bharatpur and Alwar
(2) Banswara and Jhalawar
(3) Sikar and Nagour

(4) Hanumangarh and Bikaner

Mukundra hills are the part of
(1) Central Aravalli

(2) Eastern Plain

(3) Hadoti Plateau

(4) Luni Basin

Which is not a correct match ?

(1) Berachriver = — Gogunda hills
(2) Gambhiri river — Javad hills
(3) Bangangariver — Bairath hills

(4) Mabhi river — Khamnaur hills
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2011 o1 SFFTIAT o AR TR
fera it =1 Tmefior femmraTa ook B @

s 2 7
(1) wreft
(2) TwHER
(3) ¥
(4) SR

2001 @ 2011 % HeT TEAH % g
St o srEfea Sofa ) sHEen §

e gerehrr aRada sifhd feram 2
(1) FmR

(2) SEAR

(3) sigarer

(4) $RE

= e T fe T IMYUR W & HUH H

Wﬁﬁl‘q:

A. 2011 % et iS5t T 76.6% wnarn
3iferd Y |

B. 2011 # SR f§& i wfgen
HIERAT =IaH @ |

C. #wmR f& F 2011 # =aH
SHEET U 3iferd foma |

D. 2011 ¥ TSR < ST SHEEAT
FE R 21.3% @ |

E T

(1) ALB@WC

(2) B,CTWD

(3) A,BTWD

(4) A,B,CTW D

11

31.

30.

As per 2011 census, which district of
Rajasthan is having more than one
thousand rural sex ratio ?

(1) Pali

(2) Rajsamand
(3) Dungarpur
(4) Jalore

Which district
recorded highest decadal change of
scheduled tribe
2001-2011?

of Rajasthan has

population during

(1) - Nagaur
(2) Jaisalmer
(3) Banswara

(4) Dungarpur

Select the correct statement using code
given below :

A. In 2011 Kota district recorded
76.6% literacy rate.

B. Jalore district is having lowest
female literacy rate in 2011.

C. Bikaner district
lowest population density in 2011.

has recorded

D. In 2011 decadal growth rate of

population in Rajasthan was

21.3%.
Codes :
(1) A,BandC
(2) B,CandD
(3) A,BandD
(4) A,B,Cand D
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35,

36.

= o @ 5l 1 A 91 I o
(A 1 FHEn A it wfaa B 7
(1) TR T &ATTG

(2) SEAH TE AR

(3) SR T HiH

(4) I& wE Hiewarer

T are v e e e &
(1) efeoft arreett §

(2) 3udl a5

(3) e IEe B

(4) cfeaof-geff wBr

ST Y % TSl TG hT A HR @
(1) = 3&m

(2) TS TH BT FEI

(3) hIeATIH I

(4) = 3@

frg ¥ T TS gty fifg i
T ?

(1) 2012

(2) 2008

(3) 2001

(4) 2010

TEEAATRTUT o1 HHES(d I T8l &
(1) afo=mom

(2) fftr 3w H witer

(3) 79 i

(4) TR

12

34.

35;

36.

Which among the following pair of
districts is more affected by
waterlogging (sem) ?

(1) Ganganagar and Hanumangarh
(2) Jaisalmer and Nagaur

(3) Jaipur and Sikar

(4) Churu and Bhilwara

Soora — Ghat and Shivpur passes are
located in —

(1) Southern Aravalli

(2) Northern Aravalli

(3) Central Aravalli

(4) South — Eastern plateau

The main cause of water pollution of
Luni river is

(1) Cement industry

(2) Dyeing and printing industry
(3) Pesticides industry

(4) Leather industry

In which year Rajasthan State
Environment Policy was declared ?

(1) 2012
(2) 2008
(3) 2001
(4) 2010

Which is not an anthropogenic factor
of desertification ?

(1) overgrazing
(2) change in land use
(3) lesser rainfall

(4) urbanization
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‘FaoEr Ha fFa e d fa g 2
(1) 5§ '
(2) #ETS

(3) HaTE AR
(4) T

U & FETaTg TR0 & AR STei
wE g3 et foper ety wew o wwifaa
g7

(1) Bwhw

(2) Bshw

(3) Cwg

(4) Aw

2011 =1 SOMET % AR = § §
fra Rt o wrt sEEn @1 shee
A R ?

(1) <&

(2) AT

(3) SHHeTR

(4) TEHT

B B 9T 8

(1) < s 1
(2) A& 9fFE
(3) = H ot
(4) FaeT SfH @

fore et & v wrE s U ST § 7
(1) srFaret

(2) 3R

(3) e

(4) el

!
i
i
i
i
i
i
!
i
sf
i
}
E
{
.
I
i

|
|
{
|
|
|
|
|
i
|
|
|
|
E
|
|
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37.

38.

i 39.

i 40.

i 41.

In which district ‘Navlakha’ lake is
located ?

(1) Bundi

(2) Jhalawar
3)
(4)

Sawai Madhopur
Tonk

As per Koppen’s classification of
climate Barmer and Jhunjhunun
districts are included in which climatic
region ?

(1) Bwhw

(2) Bshw

(3) Cwg

4) Aw

As per 2011 census, which among the

following district has the lowest
percentage of urban population ?

(1) Dausa
(2) Karauli
(3) Jaisalmer

(4) Rajsamand

Chhappan plain is the part of —
(1) Luni Basin

(2) Mabhi Basin

(3) Banas Basin

(4) Chambal Basin

In which district dry teak forests are
found ?

(1) Banswara

(2) Ajmer

(3) Alwar

(4) Karauli



42,

43.

44,

Wﬁ%%&%ﬁmﬂq
IUHTT IUCTH FUE ?

(1) TR
(2) &S |
(3) WG
(4) HTeE
YA G e T 39 fSiel W
gafera hifs va A= fed ™ @&t g2
T T
(F) (fsrem)

A. Tt drema L AR
B. feemamer . fexeme
C. fvwHiverd 1. =R
D. T IV. amR
%Re:

A B C D
Mmun 1 IV I l
) m v I

G) IV 1 1 1
@1 1 1 IV

TSI H g °1g % WEiaad w1ed ]'
forg U HERfT A T L E 7 |
(1) et o1 6 gewTve wEpa (3N #H l
qr)
(2) 1A T AT T HI GEATUS HEHHA |
(s e 3m) |
(3) Tafra @eidt @1 i gevve wEpld i
(4t i 3= I
(4) ST i A TGS T |
(w3t ) |
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42.

43.

i 44.

Palaeolithic tools have been recovered
from which site of Rajasthan ?

(1) Bagor
(2) Abhar
(3) Bhangarh
(4) Kalibangan

Match ancient civilization site with
their district and choose the correct
code given below :

(Site) (District)

A Singhi Talav. I  Jaipur
B Tilwara II  Chittorgarh
C Bijak ki Pahari III Barmer
D Nagari IV Nagaur
Codes :

A B C D
(1) I I Iv 1
2 m v 1 I

3 Iv 1 I II
“4) 1 nm 1 Iv

From which pottery culture the oldest
evidence of Iron metal found in

Rajasthan ?

(1) Ochre coloured p.ottery (OCP)

(2) Black and Red ware (B & R)

(3) Painted Grey ware (PGW)

(4) Northern Black Polished Ware

(NBP)

00



45.

46.

47.

48.

00

. Rmg e

Frifera wfim 71t § & frg wmw W

|
%
(1) FHicTR ]
|
|

(1) o

(2) B A
(3) W

(4) gy

fosiiferan sifel & e 9w e | 47.

% fmi dtgm 9w & fw e 3
HTETT T ?

(1) fomreest wem

(2) Tged

(3) WU WU

(4) aTgufeTrst

F-frer W s RE R 7
(1) fexitee

(2) AR

(3) TR

(4) WIS AT

. S S . e Y S e, S it s
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| 45.

48.

In which of the following ancient
cities the remains of the canal have

been found ?
(1) Karkot nagar
(2) Rangmahal
(3) Nagari
4) | Nandsa

Where is the Gupta period ‘temple of

Bhramar Mata’, located ?
(1) Sojat

(2) Chhoti Sadari

(3) Perawa

(4) Eranpura

According to Bijolia inscription which
ruler of Chauhan dynasty built

Sambhar lake ?
(1) Vigraharaj I
(2) Vasudeva
(3) Durlabhraj I
(4) Vakpatiraj

Where is ‘Jain Victory Tower’ located ?
(1) Chittorgarh

(2) Udaipur

(3) Ranakpur

(4) Mount Abu



49, Treifeq ddi ®1 396 Sfa & gAfm@ | 49. Match the following saints with their
FHive @ = @ W 9 w2 F = | caste and select the correct code given
£ - below :

@) & (Saint) (Caste)
A, SO I = A Jasnath I Pathan
B. ™ L e B Laldas II Jat
C. &9 . fyreEh ! C Rajjab [II Mirasi
D. w@T V. g D Bakhana IV Meo
%< : Codes :

A B C D

A B C D |
M v 111 () v i I
@ I v 1 I | @ o v 1 I
Gy m 1 1Iv I | Gy M 1 IV I
41 1 1 I | @1 1o oI

50. Wl I§ ¥ g § A=ifra d 8§ 50. Which of the following statements

regarding the Khatoli battle is untrue ?

1 HUA ST 3 ?
(1) This battle took place between

(1) I8 gg @I TF HTEM W) b A ‘ '
Sanga and Ibrahim Lodi.

g T |
(2) Khatoli is a place of strategic
@) W HS T ARG WA W importance located on the border
g g g8 1 T« o7 | of Mewar and Marwar.
(3) 39 Ig H | I W A 5 T (3) In this battle Sanga took Ibrahim
1SS T T o | Lodi’s son captive.

(4) Maharana Sanga became lame in
this battle.

(4) WERIOT T W I§ | ST B T
T |

a 16 00
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52.

53.

54.

55,

00

I EdsH S ufesher ek T8 8
(1) STEEe |

(2) TITHTHER |

(3) 33wER |

(4) TETR |

Bio 212 .

(1) TagHee S 6 Fifies FoEE
frer g |

(2) sifEes SfRn &t Sl wFE
fre g |

(3) TUTSE TeZTH 1 Ik T
fFm 2

(4) TATSHMAIHHH TEpcieH i HIID
T foFar & |

fepvea dwe e afa 5t & 12
& I B &

(1) ATETH GG R |

(2) BYSY @ Hafa g |

(3) C &9 E EEfRA g |

(4) Z %9 8 Gefed 2 |

g 1 FEE dUT €9 YR % "e
Ferfereran <t go

(1) T grI <1 1 Thell & |

(2) Tafererar mores & it 1 Ehdt 2 |
(3) A faae™ 4 1 o1 ehdl 2 |

4) FaftaH Tard 2 |

HUE faITem % SHH G Tt i
Icafa

(1) few=iidm sreeen d gt 8 |
(2) STENEH FTEATH Bl 2 |
(3) TS aTewn § gl 2 |
(4) SHETHEARHE e H gl 2 |

| 51.

17

52.

53.

54.

w
O :

Mutagen that is not alkylating agent is
(1) EMS

(2) MMS

(3) EES

(4) HA

Bio 212 is a somaclonal variety of
(1) Citronella java

(2) Brassica juncea

(3) Lathyrus sativus

(4) Lycopersicon esculentum

Double helical DNA that has 12 base
pairs per turn is related to

(1) A form
(2) B form
(3) C form
(4) Z form

Variation between plant height and
seed weight can be compared using

(1) Range

(2) Coefficient of variation
(3) Standard deviation
(4) All of these

During meiosis origin of synaptonemal
complex occurs in

(1) Diplotene stage
(2) Zygotene stage
(3) Pachytene stage
(4) Diakinesis stage



56.

57,

S8.

59,

frefafea & & frad 3 fafv= @gor-
TEY TE A E 7

(1) Te <fim foram

(2) T S foram

(3) HYh i o

(4) Tt sf= fopam

T B ¢ ST o s ot i
A HLTE ?

(1) ATgemTERA €’ IR

(2) T ferfeRtor

(3) Wit

(4) 3 g1 S % off9 6t Jeq gl

A U | 3R T T Yieimis gayey
TG BT &

(1) Frames =

(2) wETE S W

(3) Tt AW

(4) HTEATCHS S T

7o G| oXor & 91§ & 9

TR ? |

(1) 39T ST HH FUFIae are
A&t o fore foman ST GRaT 2 |

(2) THH1 WA Uy (g H IS
ST # 721 fhaT ST HhaT B |

(3) TR 39T Fifesd e Jraifed Sl
¥ foiw 9@ &9 9 fopam s gehan
(4

(4) T I A ST 5 ffiea o
s asar 2 |

-
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57.

58.

59.

In which of the following, 3 different
phenotypes are observed ?

(1) Duplicate gene interaction
(2) Complimentary gene interaction
(3) Supplementary gene interaction

(4) Inhibitory gene interaction

Which of these decrease the frequency
of recombination between two genes ?

(1)
(2)
3)
4)

Mitomycin C treatment
Gamma irradiation
Inversion

Larger distance between those
genes

In lac operon, RNA polymerase first
binds on

(1) Regulatory gene
(2) Operator gene
(3) Promoter gene

(4) Structural gene

What is not true about marker assisted
selection ?

(1

It can be used for traits with low
heritability.

2

It cannot be used at seedling stage
of plant growth.

(3) It canie used for desirable and
undeé‘i?%b'lé;genes equally well.
4)

It can be used for pyramiding 3
genes. -

00



60. T-I = Fh-1I & a1 wUd qey =

ﬁi}@@ﬁg—bﬁmﬂﬁ . the correct answer by using the codes
given below the lists :
-1 -1 | List — I List — II
B IRUIS A, X | 1. Bollgard A.  Tomato
2. A B. hAre , 2. Maximen B. Canola
3. oEs C. 3 3. Lauriel C.  Potato
i ?LFﬁTB D. uaE 4. New Leaf D. Maize
5 Yo AR E 5. Flavr savr E.  Cotton
Codes :
e 1 2 3 4 5
1 2 3 4 5 1) E D B C A
() E. D B C A @ D E B C A
2 D E B C A l
; _ B3 C A B E D
) € A B.E D | 4 A B C D E
4 A B C D E
61. F-IH G-I AFTFTCanFRARA | 61. Match the List — I with List — II and
@ﬁﬂiﬁﬁ'(ﬂel . ' select tl}e correct answer by using the
codes given below the lists :
Tl -1 et - 11 List — I List - II
1. Geneala3 A. seed
1. Sfiala3 A. 9 3T production
2. sfedfesam B, wEfmefitder | 2. Antibiosis B. n;lufltiple
alleles
3. fenfeR C. wfafgm 3. Teosinte C. antifreeze
: . 4. Linkage drag D. distant
4. HEcw D. & & hybridization
5 mgia:q-@ E. H& ] 5. Isolation E. maize
' distance
6. ABO®ra F. e dfm | 6. ABOblood  F. insect
. i group resistance
7. WA G. M TeeH i 7. EcoRl G. restriction
; enzyme
% 1 5 3 4 5 6 7 I Codes : _
() A B C D E F G | : - r §F 6 7
2 E F G D C B A } ) &. 5 C D E-F B
@ G F E D CB A | 2 E F G D C B A
4 C F E D A B G { G) G F E D C B A
) * 4 C F E D A B G
00 19

| 60. Match List — I with List — II and select




62.

63.

64.

65.

C, el % wehrr-gverw § e e
1 e feehres scag P A a1 7
(1) 3-PFALR

(2) 3-PGA

(3) 1,3-bis PGA

(4) DHAP

yepT-gvere wiwar # = § 9 fod
SRR % oo et Wi I g
27

(1) wehrst foman

(2) few foran

(3) e ol JhTEI-TTEH

(4) ETS

THTI-GIATI H T BT TehTI - HIEEA
iy rm et HiaRfG i dae ?

(1) Mn?" 3EH

(2) Mg 3TRH

(3) Mn* wd Cl- A

(4) K*ud Cl A

fef F e § @ SN W geE 9
v AT B8 ?

(1) =&

(2) WA

(3) HrETEEgE

(4) Stfees I

| 62.

i
i
|
i
i
i
i
H
i
f
| 1

s Sttt e B S} e, M i T et TR Tt

[l
o

63.

64.

65.

The first stable product of the dark
reaction of photosynthesis in C; plants

is

(1) 3-PFALR
(2) 3-PGA

(3) 1, 3-bis PGA
(4) DHAP

In the photosynthesis, assimilatory

power is generated during the

following process :

(1) light reaction

(2) dark reaction

(3) photolysis of water
(4) ETS

The
photosynthesis occurs in the presence

photolysis of water during

of following mineral(s) :
(1) Mn?*ion

(2) Mg*"ion

(3) Mn**" and CI-ion
(4) K" and Clions

Which one of the following is the most

common respiratory substrates in

plants ?

(1) Fats

(2) Proteins

(3) Carbohydrates

(4) Organic acids
00



66.

67.

68.

69.

70.

00

RS B S % feg am
qEd e ?

(1) ATErhIfogan

(2) @TERrE

(3) U

(4) AR

TG & IO TET bl §¢ hiA hl TfshaT
1 Aoz fordes gy 61 ST 8 7

(1) 1AA

(2) ABA

(3) IBA

(4) 2,4-D

FIAEA 9 i § 0 FHaardt 2
(1) IR 99

(2) =g 59E

(3) F=mivg — o ysa

(4) ITEEH T9E

et § wmaR gig = 8§ e e |
BT ?

(1) Sfrrm

(2) ARew

(3) &

(4) uht

WYl H A gig Tk T T SRR
G

(1) =& & ITHR

(2) forafirs & 3R

(3) fmizsat & TR

(4)

]
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67.

68.

69.

70.

The process of glycolysis occurs in the
following part of the cell :

(1) Mitochondria
(2) Cytosol

(3) Peroxisome
(4) Chloroplast

Stomatal closure in response to stress
is mediated by

(1) T1AA
(2) ABA
(3) IBA
(4) 2,4-D

Effects of kinetin on
senescence is called as

(1) War bug effects

(2) Mothers effects

(3) Richmond-Lang effect
(4) Osborne effect

delaying

In plants growth continuously takes
place in which part ?

(1) Cambium
(2) Meristem
(3) Flowers
(4) Leaves

A standard growth curve of plant
generally has following shape :

(1) Bell shaped

(2) Pyramidal shaped
(3) Sigmoidal shaped
(4) Straight



71,

72.

73.

74.

= 3 @ fiw siptor & forg formeht T
JTfereR SYTrvIRdT Bl 2 7

(1) T
(2) @
(3) I=am
(4) T

gy« =19 4 anf=res faftr gro «fisr srmeron
T T HeelTdl 3

(1) TR
(2) HIEH

(3) EhiifthehyH
(4) Ttk

uTey hifsrent fored s ffy 72t Bt
H

(1) TH
(2) WRrERe
(3) WA
(4) wm3fere

firrer &1 &t o o aggatt # 9 S
ITefl GO HATeqa TH A HH A 2 ?

(1) <Td JAT
(2) TSRt
(3) T

(4) 3@ gumT

|
|
|
|
;
|
|
|
!
!
|
|
|
!
|
|
i’
|
|
|
|
|
|
}
|
!
|
|
|
!
|
|
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7.

72.

73.

74.

Which of the following is most

essential for seed germination ?
(1) Light

(2) Mineral

(3.) High temperature

(4) Water

Removal of seed coat in dormant seeds

by mechanical method is called
(1) Emasculation

(2) Separation

(3) Scarification

(4) Stratification

The plant cell lacking a cell wall is
(1) Tonoplast

(2) Protoplast

(3) Cytoplast

(4) Cybrid

Which of the following is vice in

animal due to mineral deficiency ?
(1) Kicking

(2) Pica

(3) Biting

(4) Rolling of eye

00



18,

76.

77.

78.

00

AR g <A arefl TR WRa % e
&7 § gy W@l 8 7

(1) afror &=

(2) IW-7d &
(3) IT-ufvad &=
(4) & &=

forva =1 vgen . H.uw. 99 F1 99
I T €I IR 3T, HEAT H 4eT g3T

(1) o8

(2) T
(3) wH
(4) wfem

<I8 IE * Wi 99 AfYE JHaH 39
A % HIT gaT 2

(1) TTSTRITe
(2) g~
(3) 6 T

(4) YwE

ECINBERECIEER
(1) FEHHIETATHA
(2) TR

(3) TiE™

(4) T HHE TG

| 75.

23

76

i

Most of the milch breed of cattle

belongs to which region of India ?
(1) Southern region

(2) North-East region

(3) North-West region

(4) Coastal region

The world’s first IVF buffalo calf
developed at NDRI, Karnal is

(1) Shreshth
(2) Garima
(3) Pratham
(4) Mahima

Disease responsible for huge economic

losses to dairy industry every year is
(i) Mehdte |

(2) Milk fever

(3) Mastitis

(4) Teat block

Anti-sterility vitamin is
(1) Cynocobalamine
(2) Tocopherol

(3) Ergosterol

(4) None of these



79.

80.

81.

82,

83.

Hehigad ITHA! 37T 8
(1) fe=resa

(2) @EHH

(3) WU

(4) fagfem

il Y W I A B
(1) 3rEe

(2) HEHAA

(3) ST Sie it
(4) A

forg R T T AT % T ¥ FE
87

(1) @ifgare

(2) < faeft

3) fir

(4) UYRIREH

TH 3R Y s, fRua 2
(1) TamERd

(2) forsrm

(3) #FR

(4) fegm

T ST89TE TEH @ s & fou et
&) fere@ Sy=ia fera s 2 7

(1) Ffen drewe

(2) drEn

(3) wHciETss deie

(4) fomm

24

81.

82.

83.

Sulphur containing amino acid is
(1) Tryptophane

(2) Lysine

(3) Methionine

(4) Citrulline

The game purpose chicken is
(1) Aseel

(2) Kadaknath

(3) Javan jungle fowl

(4) Cochin

Lola is the synonym of which Indian
cattle breed ?

(1) Sahiwal
(2) Red Sindhi
(3) Gir

(4) Tharparkar

National Research Centre on Pig is
located at

(1) Guwabhati
(2) Mizoram
(3) Srinagar
(4) Dirang

To make rumen bypass protein feed,
oil cake is treated by which treatment ?

(1) Urea treatment

(2) Grinding

(3) Formaldehyde treatment
(4) Soaking

00



84.

85.

86.

87.

88.

00

YT H Y] IO fehe 9 o 3TRTet |
SR ?
(1) 05
(2) 04
(3) 10
(4) 07

wuTfea 3R wfey uy) #i 3tem & 6
SIS 1 hed 8

(1) T
(2) EY

(3) HICIHEM

(4) =34

U] g H H FATHHRI Y] Hl &M
Ed &

(1) 3=

(2) Rgem

(3) ifen
(4) gifen

it & fpaeht +ft § whofl e Eifiw
BAE 7

(1) feaftm E

() faerftmc

(3) faerf=m D

(4) foafm B

9 % $1 qY IcareT H ferwehl we ™
arferes e 2 7

(1) T

(2) sl

3) %@

(4) T

25

84.

85.

86.

87.

Animal census is conducted in every
after years in India.

(1) 05
2) 04
3) 10
(4) 07

The process of segregation of affected
and suspected animal is known as

(1) Isolation
(2) Quarantine
(3) Disinfection
(4) Selection

The term wused to remove the
uneconomical animal from the herd is
known as

(1) Breeding
(2) Feeding
(3) Weeding
(4) Heeding

Crazy chick disease is caused due to
the deficiency of

(1) Vitamin E
(2) Vitamin C
(3) Vitamin D
(4) Vitamin B

Which animal contribute maximum to
the total milk production in India ?

(1) Cow

(2) Goat

(3) Buffalo

(4) Cross breed cattle



89.

90.

91,

92.

60 & IA H AR w1 I
% IcaTed o foru fopar ST 2 |

(1) Co,
(2) TeHIEA
(3) WA
(4) AR

i 1 % wreor Tedt o ST 3 T
Td &

(1) ST HT Tt Fere T

(2) HITE Fi =ik T

(3) =it b ey quf et

4) A oh g=m

TArehe 3TR Toefireh, M1 HhmoT Tyl
rt ¥ firera @

(1) TR 1 The Tett AT TG

(2) HIEHT BT Ut I TG

(3) g T U AT g

(4) HHTEE BT Uedt AT G

‘T HawE foRe qrgg T § 9
M E ?

(1) fuferem

(2) HIEIRI

(3) s

(4) e
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i 90.

91,

92.

Yeast are used in bakery industry for

production of —

(1) €O,

(2) Alcohol
(3) Protein
(4) Flavour

Kresek phase symptom found in plant

disease

(1) Late blight of potato

(2) Black arm of cotton

(3) Bacterial leaf blight of rice
(4) Leaf curl of chilli

Local and systemic, both infection

found in plant disease

(1) White rust of crucifers
(2) Coffee rust

(3) Wheat rust

(4) Soyabean rust

“Clamp connection” is found in which

genera of plant pathogen ?
(1) Pythium

(2) Phytophthora

(3) Erysiphe

(4) Ustilago

00



93.

94.

9s.

96.

00

ST T9TEH o9 ¥ GaY @l 2
(1) @ity

(2) T

(3) dTediuee

(4) Hiwrer

Tohg! o019 FUAT AT WIS AL
A § a2 o #

(1) BTSSRI

(2) Tuferm

(3) TR

(4) ceEfE

e a1 fadiaredi siffear firer &
(1) vt

(2) 3reeAtEn

(3) HTEIHIT

(4) fufrm

g % ST husdl T i Frmror fp
T Hehal &

(1) sueHeIfs 17.8 W.ud. § §

(2) S H I F 52°C w11 fime
Th ITER

(3) TeI IT=R
(4) <iferes famon

27

9.

9s.

Oyster mushroom is belong to the

genus
(1) Agaricus
(2) Pleurotus
(3) Volvarella
(4) Grifola

board

symptoms found in disease caused by

Concentric ring or target

(1) Phytophthora
(2) Pythium

(3) Cercospora
(4) Alternaria

Muriform or dictyospore conidia are

found in

(1) Fusarium
(2) Alternaria
(3) Phytophthora
(4) Pythium

Loose smut of wheat can be controlled
by
(1) Spraying of Imidacloprid 17.8 SL

(2) Hot water treatment of seed at 52

°C for 11 minutes
(3) Soil treatment

(4) Biological control



97.

98.

99.

100.

ey e § aftifrd wge S |
HTAl B
(1) T |
(2) Hugd
(3) Ifofer st 2
(4) 7 S

= 3 & wghe & R ke # ad
2

(1) Tuferm

(2) BTSSRI

(3) IAcTHRET

(4) we

Jm wes faee smm LY
TETING BT 2 |

(1) sftrfeer o
(2) HEH
(3) Br=
(4) wTITE KRR

e Rwer AT |
(1) TE.T9. FIR

(2) 3. ISt

(3) & 3 oy

(4) f.T, ATEHeh

I
o0

o7.

98.

99.

[
=
(=]

The fungi included in  order
peronosporales cause the disease
known as
(1) Rust
(2) Smut

(3) Powdery mildew
(4) Downy mildew

In which of the following fungi

zoospore are formed inside vesicles ?
(1) Pythium

(2) Phytophthera

(3) Alternaria

(4) Albugo

Tomato spotted wilt virus s

transmitted by

(1) Bemesia tabaci
(2) Mites

(3) Thrips

(4) Myzus persici

. Gene for gene hypothesis was given

by

(1) H.H.Flor

(2) J.E. Vanderplank
(3) Hansen and Smith
(4) P.A. Michelli

00



101.

102.

103.

104.

00

aToR § BRa STt 4ThRe B BT 2
(1) e dfarfienre

() reeTei ot

(3) TheRItel=T
(4) YITHRE FHANE

T gt w1 S M R
(1) TTSTHRISH Hafel
(2) ARET HIgHITE

(3) Toreremes Wiife

(4) SRIEEE THIHBT

TR 50 EC 61 fopet omm v o
Tt e ! Fafa s & fofe o e
&7 & faT 0.05% = FW F fT 250
et gt & fire o fore smavas 2 7

(1) 150 fa.=f.
(2) 200 fa.=ft.
(3) 250 fa.&fh.
(4) 300 fa.<f.

THER AT 1 IS &
(1) AemlRrEm

(2) BTG

(3) UHithe

(4) STEFARETE

] 101. Green ear disease of bajra caused by

102.

103.

pathogen

(1) Sclerospora graminicola
(2) Phytophthora parasitica
(3) Sclerotinia

(4) Thanatephorus cucumeris

The scientific name of Bombay locust
is

(1) Nomadacris succineta

(2) Locusta migratoria

(3) Schistocerca gregaria

(4) Chortoicetes terminifera

The quantity of malathion 50 EC

-required for mixing 250 litre of water

to obtain 0.05% spray solution for one
acre of paddy to control leaf webber is :

(1)
(2) 200 ml
(3) 250 ml
(4) 300 ml

150 ml

. Example of granular insecticide is

(1) Malathion
(2) Carbofuran
(3) Acephate

(4) Diclorvos
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109.

FI I IH qUYIE I HH G T
Siferd @ Tehal &

(1) @9 ses

(2) =TS YA

(3) T 3ATeT S

(4) TTHEEE U9 WY

THfeRd e Fremmr ggfa § Hie afemeh
HHAT 1 ITFNT ISTET B

(1) et Fe

(2) @rEF I

(3) SAfees fazmo

(4) URufEs e

FIE H FA 7 e v e I
3Tepidl fe@TE 1 39 hie & whia & gan
2

(1) iR get
) fecfier e
(3) et et

(4) HUE hH! ATA T

I S ATEHATT h kT ST B
(1) & H AT Hh

(2) WA F IR IR G Geas
(3) T I TeATH

(4) e HHA TR

wET Y i afy F e e
S (Y[2) T T A ¥ed & S 8 |
(1) g wag

(2) T BEH

(3) TSt AT Bk

(4) wehs o
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106.

107.

108.

109.

. Insect which can survive at high

temperature and low humidity is —
(1) Khapra beetle

(2) Rice weevil

(3) Red flour beetle

(4) Angoumois grain moth

Use of resistant varieties in IPM is an
example of

(1) Legal control
(2) Chemical control
(3) Biological control
(4) Cultural control

The flowers do not open and give
rosette appearance in cotton is due to

(1) American boll worm
(2) Spotted boll worm
(3) Pink boll worm

(4) Red cotton bugs

Red hairy caterpillar is controlled by —
(1) Ploughing the field

(2) Trenching around the field

(3) Burning the larvae

(4) Trap crops

In maize due to damage of y
central shoot withers and leading to
“dead hearts”.

(1) Shoot fly
(2) Stem borer
(3) Pink stem borer

(4) Corn worm
00
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T T I RS 39 TS H 37T B
(1) sH=ea

(2) ETEHATL

(3) fe=u

(4) g

TG i i A HA H HATAT S ?
(1) i

(2) FEHS

(3) SHHISEHEE

(4) IehiuIE!

30 |Hi. 3R &1 g 5 TRt wfa wer
& TR A T W AR e o o
TOTT I |

(1) 0.15 BFT

(2) 1.5 FR:

(3) 0.015 Bk

(4) 15.0 FR:

g dfem % @1g foge
ST 2 |

(1) IR T

(2) HdiE B

3) W &

@) T g

ot foR 4 & <Ter yaTg 6 UM %
forq wfieror 2

(1) Q=0.0186 LH2

(2) Q=0.0186 LH?

(3) Q=0.186 LH*?2

(4) Q=0.0186 LH*?2

| 110.

l 111.

113.
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Mustard saw fly belongs to order
(1) Hemiptera

(2) Hymenoptera

(3) Diptera

(4) Lepidoptera

Lac insect belongs to family
(1) Kerridae

(2) Kermesidae

(3) Lacanodiaspididae

(4) Stictococcidae

. Calculate the area covered per hour by

a plough of 30 cm size ploughing at
5 km/hour speed.

(1) 0.15 hectare
(2) 1.5 hectare

(3) 0.015 hectare
(4) 15.0 hectare

Fuel is injected in the cylinder at the
end of

(1) Suction stroke

(2) Compression stroke
(3) Power stroke

(4) Exhaust stroke

. Equation for calculating the discharge

through Cipoletti weir is
(1) Q=0.0186 LH2
(2) Q=0.0186 LH?
(3) Q=0.186 LH*?2
(4) Q=0.0186 LH*?2



115.

116.

117.

118.

119.

| FFRF T (1 B.9.) T UK B B
(1) 10000 =¥

(2) 1000 ==HET

(3) 100 gHIX

(4) 10 gt

IR foeivet 399 & fou we@ afies
ITANT H 3 AT BRI (S8F) FH B -
(1) 2-3=4=1
@) 1—3—84-2
Y Tesdnafad
A Do |

fewp wres § feee wret (ggepma 1)
LIERAGIE

(1) 42°-45°

2) 5°—10°

(3) 30°-35°

@) 15°-25°

f&m St et forde v smer IugE
2, ST T ST Hag <l TEUE el

(1) <1.27

(2) 22-3.54.

(3) 3.5-5.0H.

(4) 5.0-10.0.

T o foTq 3uger &4 BT 8
(1) 2ven femes &0

2) =T

(3) 3THaE fomn &0

(4) PR &0
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116.

117.

118.

119.

One hectare cm (1 ha.cm.) water is
equal to

(1) 10000 m3
(2) 1000 m?
(3) 100 m?
4) 10m?

For four cylinder engine, the most
commonly used firing order is

(1) 2-3-4-1

s @) 134y

@) 1-4-3-2
(4) 2-4-3-1

What is the value of tilt angle in a disc
plough ?

(1) 42°—45°
(2) 5°-10°
(3) 30°—35°
(4) 15°-25°

The swing basket water lift is most -
suitable when the depth of water
surface is —

(1) <12m

() 22-35m
(3) 3.5-50m
(4) 5.0-10.0m

Suitable harrow in orchards is
(1) Tandem disc harrow

(2) Blade harrow

(3) Off-set disc harrow

(4) Triangular harrow

00
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& 9 § 0.8 M /fme it I 9 78
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(1) 120 e

(2) 1200 #fieX
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(4) 48000 wfteX
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 wEaH AR S |
(1) ¥s%

(2) @d I
(3) H=g
(4) @

STt o % AT h T Bt &
(1 2
2 3
3) 4
4) 5

feafem fafr 2
(1) =t
(2) FesH !
(3) THAATRL <h! |
(4) ST THH

afe #in 3R e i d gfg wAm E @
HgEH g B

(1) sgargs |

(2) Tl gaAT |

3) Rr

(4) ATt

120.

122,

123.

A pump is discharging 0.8 m*/min.,
the amount of water discharged in one
hour will be

(1) 120 litre

(2) 1200 litre
(3) 4800 litre
(4) 48000 litre

Differential lock in tractor is used to
run the tractor on

(1) road
(2
(3)
(4)

farm
mud

lawn

No.
(1) 2
(2) 3
(3) 4
4 5

of sections in Parshall flume is

Dibbling is a method of
(1) Ploughing

(2) Harvesting

(3) Levelling

(4) Sowing seed

. If the increment in both demand and

supply is equal, then equilibrium price
will be

(1) Increasing
(2) Decreasing
(3) Remains constant

(4) Maximum
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(1) IgrEHar 96
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(4) HH-TSES T

T T5F 1 3 & G @l | @l
T3 I ST STAT TTAT 1 Sl B

(1) TRew 56
(2) IS T
(3) M H
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¥ I 7 & 39 e Sar 2

(1) =geF= =i

(2) IS 7l
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combinations of two items giving
equal satisfaction is called

(1) Indifference curve
(2) Production possibility curve
(3) Iso-quant

(4) Iso-revenue curve

which
quantity of a commodity purchased at

A curve shows optimum

different levels of income is called
(1) Engel’s curve

(2) Lorenz curve

(3) Demand curve

(4) None of these

The demand for a product that is not
associated with the demand of other
product is called

(1) Derived demand
(2) Composite demand
(3) Autonomous demand

(4) Cross demand

What will be the numerical value of
elasticity of demand when demand is

- said to be elastic ?

(1) >1

(2) <1
3) =1
4) =0

00
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T THITHR SR F [T 6t FHd A
Bt

1) >1

2) <1

3) =1

4) =0

foret Seure it amgfd TS AET 3R
i o si= Gy Y Thid bl gt @

(1) e s fem
(2) Y Fe
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IATEH AT 1 el IITdT &

(1) SR e
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(1) 3itga afed-ia arm
(2) dmra |
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129.

130.

131.

132.

In a monopoly market, the cross

elasticity of demand will be
(1) >1
2) <1
3 =1
4) =0

The nature of the relationship between
quantity supplied and price of a
product is indicated by

(1) Law of supply

(2) Supply function
(3) Elasticity of supply
(4) Supply schedule

Per unit cost of production of output at

current market price is called
(1) Market price

(2) Real price

(3) Nominal price

(4) All of these

A curve which looks like a rectangular

hyperbola

(1) Average variable cost
(2) Marginal cost

(3) Total cost

(4) Average fixed cost
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136.

9 39 IqTe a2, 91 fEd
qREA T AT Bt

(1) =g |
(2) wedigs |
(3)

(4) ifrpaw

NITI 3T & 37ea8 &
OREEEE

(2) s ot

(3) EmHA

4) &

W 5k T ATt sk ot wer Srar &
(1) FeqesTela 3Ngd ana a6
(2) dreeTelt 3tad T 95k

(3) IATUHTAA HHTA AT Toh

(4) <reRTela HET ST a5k

foreft ST o forg 3viern e hia =1
YW T 2, 98 39 hHd & FHH 8l
2, R 98 sy T @) R g @

(1) YT BT ATH
(2) famtan = oy
(3) Juvie arfemry
(4) Tmtar srfesy

§133. When average production is at

e i ¢ e s i = o e it i e e e i gt
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135.

maximum, average variable cost will

be

(1) Decreasing
(2) Increasing
(3) Minimum

(4) Maximum

. Who is the chairman of NITI Aayog ?

(1) Finance Minister
(2) Prime Minister
(3) Defence Minister
(4) Home Minister

A curve which is also called envelop

curve
(1) short run average cost curve
(2) long run average cost curve
(3) short run marginal cost curve

(4) long run marginal cost curve

€

. The price that consumer pay for a

product is less than the price he is

willing to pay is called
(1) consumer benefit
(2) producer benefit

(3) consumer surplus

(4) producer surplus

00
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FaaE R &1 I e wfass &
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(1)  Hursfem
(2) qeawE
(3) few=prfen
(4) sl
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fowar g |

(1) 3rqet sfenfira

(2) TR ST
(3) o siferfira

(4) THIHRI IR

WAT 9ie o, JaR e &1 596
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(1) 3.4, <
(2) &% T
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(4) . TR
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(1) wEwe Fiy rfeeprd
(2) HIh FIH

(3) v ferdres

(4) ufreur Hiy

; 137. Process of calculating future value

|
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138.

139.

using present investment is called
(1) Compounding

(2) Depreciation

(3) Discounting

(4) Appreciation

Product differentiation is a distinct

feature of
(1) Imperfect competition

(2) Monopolistic competition

- (3) Perfect competition

(4) Monopoly market

Who is known as the Father of

extension education in Indian Context ?
(l) J.P. Leganes

(2) B.K.Roy

(3) Dr. K. N. Singh

(4) D. Ensminger

. In T & V (Training & Visit) System

(1974), the transfer of technology to

the farmers, at the farm level was done
by

(1) Assistant Agricultural Ofﬁce;‘s

(2) Contact Farmers

(3) Subject Matter Specialists

(4) Deputy Director of Agriculture
m]



141, “FUh % @dl W FHE frE @R |
TN <hl Teh HEwaqul TTiafafe § ? I activity of which of the following
i

extension programme ?
(1) TETa I 9REFSHET (ORP)

141. “On Farm Testing” is an important

(1) Operational Research Project
(2) THE yesi= giESHT (NDP) (OPR)
(2) National Demonstration Project
(3) WENTSITAT & @ <l 3R FHRIHH (LLP)
| (NDP)
(4) SN fosm $5 (KVK) (3) Lab to Land Programme (LLP)
(4) Krishi Vigyan Kendra (KVK)

142, SURHAl BE AT AT (2016) ¥ | 142, The premium payable under Pradhan
3eid Tl% qYl W FEA W A Mantri Fasal Beema Yojana (2016) for

sfferarm 61 e shmer: 2 Kharif & Rabi crops respectively is

(1) 5 wfaerd a2 1.5 gfaerd (1) 5% & 1.5%

(2) 2 wferera @ 1.5 whra @ 2% & 1.5%

(3) 2 ufersra qem 5 wfasra (3) 2% & 5%

@ 3 — 4) 5% & 2%

| 143. “Sowing Skills, Harvesting

|

I

I

I

I

I

I

I

I
143. “Hreret fepm ¥ sram g s e |

A form T B ST AT R } Opportunities” is the Tag line of which

I

I

|

I

|

I

|

|

|

of the following programme ?

(1) WReTa Hfy Hieret afiwg (ASCI)
(2) TS USHR &val I=E fhse

(1) Agricultural Skill Development
Council of India (ASCI)

(NEEM) (2) National Employability
Enhancement Mission (NEEM)
(3) TSR &7meT 3~1a+ IIer el .
(3) Employability Enhancement
(EETP)

Training Programme (EETP)

(4) STETE ISR AT (JRY) (4) Jawahar Rojgar Yojana (JRY)
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145.

146.

The project, to rehabilitate the
displaced persons from Pakistan to

India was :

(1) Firka Development Project
(2) Marthandam Project

(3) Etawah Project

(4) Nilokheri Experiment

During Participatory Rural Appraisal
(PRA), the Chronology of the events,
as recalled by the local people is

known as

(1) Time Series

(2) Seasonal Diagramme
(3) Time Line

(4) Daily Activity Schedule

Use of Information & Communication
Technology - (ICT) by the govt. to
promote greater participation of the
people in the process of governance is
called

(1) e-governance
(2) Government  e-Market

(GeM)
(3) e-Chaupal
(4) Gyandoot

place
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(1) H=weEdr -
(2) =R

(3) FHeHHad

(4) wrEeIH
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147.

148.

149.

In S-M-C-R-E
Communication, C stands for

model of

(1) Communicator
(2) Communication
(3) Coding
(4) Channel

An innovation adopted by the people,
to lower the probability of future
unwanted results is known as

(1) Trustworthy innovation
(2) Valid innovation
(3) Preventive innovation

(4) Complex innovation

The leaders emerged during the flood
in a village, come under which of the
following theory of leadership ?

(1) Genetic Theory

(2) Multifactor Theory
(3) Situational Theory
(4) Personal Trait Theory

. Which is the last step of the process of

Extension programme planning ?

(1) Reconsideration & Revision of

the programme
(2) Evaluation of the programme
(3) Monitoring of the programme

(4) Report writing

00
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152.

153.

Under whose supervision, the Front
Line Demonstrations are conducted ?

(1) Scientists of the National
Agriculture Research System

(2) Agriculture Supervisors

(3) Prog. Assistants of the KVKs

(4) Assistant Agriculture Officers

Which of the following is not related
to effective written communication ?

(1) Correctness
(2) Complexity
(3) Completeness
(4) Clarity

Which of the following ITK Act came
into existence in the year 2002 ?

(1) The Geographical Indications of
Goods (Registration & Protection)
Act

Protection of Plant Varieties &
Farmer’s Rights Act

The Biodiversity Act

Scheduled Tribes and Other
Traditional  Forest = Dwellers
(Recognition of Forest Rights)
Act

)

3)
(C))

. Buttoning in cauliflower is caused due

to deficiency of which nutrient ?
(1) Potassium

(2) Phosphorus

(3) Nitrogen

(4) Calcium
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e (i) w1 I S uielE
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(1) RETAERaEsd

(2) PRI g

(3) Heper whferfam

(4) SRYE AR
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157.

Hemi root parasite weed of cowpea is
(1) striga gasrnerioides

(2) orobanche sp

(3) cuscuta epilinufn

(4) Loranthus longiflorus

Inflorescence of sunflower plant is —
(1) Raceme

(2) Spike

(3) Catkin

(4) Capitulum

The water use efficiency (kg/ha mm)
of groundnut is —

1) 3.0
2) 8.0
3) 92
@) 12.6

Which category of bread wheat
contains 12-14% protein and most
suitable for making bakery bread ?

(1) Indian hard wheat
(2) Indian pissi wheat
(3) Indian sona wheat

(4) Indian amber wheat

00



159. a9 41 % Haw § W HH 1 IS | 159. Choose the correct sequence in

160.

161.

162.
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W ;

(1) pH> 8.5, EC (dSm™) <4, SAR <
13, ESP < 15

pH <8.5, EC (dSm™!) > 4, SAR >
13, ESP< 15

pH < 8.5, EC (dSm™) > 4, SAR <
13, ESP< 15

pH < 8.5, EC (dSm™!) > 4, SAR <
13, ESP> 15

()
3

(4)

qoifn fsgwma wa war & 3w }g i
H 9T$gie i AT Hm @ 7 R
ftres 78 e} & foru fywrs 2

(1) 0.3% 3 1.0%

(2) 0.5% 3R 1.5%

(3) 0.7% 3 1.5%

(4) 1.0% 3R 2.0%

FUE H B o= F o H FH F
HTT Bt 8 7

(1) Mn

(2) Zn _

3) B |
4) Ca l

frfefea & oW @ = R o |
iy s d g ST R ? |
(1) age |
(2) v {
(3) ATEH ' |
(4) Fanferme |

160.

161.

relation to saline soil —

(1) pH> 8.5, EC (dSm™) <4, SAR <
13, ESP < 15

pH <8.5, EC (dSm™!) > 4, SAR >
13, ESP <15

pH < 8.5, EC (dSm™!) > 4, SAR <
13, ESP< 15
pH < 8.5, EC (dSm™!) > 4, SAR <
13, ESP > 15

()
3)

(4)

What is the permissible limit of biuret
content in urea for foliar spray and soil
application, beyond which it is toxic to
plants ?

(1) 0.3% and 1.0%
(2) 0.5% and 1.5%
(3) 0.7% and 1.5%
(4) 1.0% and 2.0%

‘Little leaf® of cotton occurs due to the
deficiency of which nutrient ?

(1) Mn
(2) Zn
(3) B
(4) Ca

. Which of the following clay mineral is

dominant in red soil ?
(1) Illite

(2) Smectite

(3) Mica

(4) Kaolinite
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a1 98 T forad yfo Afers
Gt 1 Bt Halfe® @

(1) TSI

(2) AEA S

(3) TSI

(4) I T

L3, 1985 H Seoifgd hicaad
FHIEH T3¢ Joteh | AR 61 AT
(%) Bt 2
(1) 2.5%
(2) 3.5%
(3) 4.5%
4) 5.5%

Id % fhe FN-voEg & A
FAftrpied: To1 Seilg TRt STt @ 3R
STEl aTg %1 @l @1 ?

(1) T =1 Freen AW &

(2) T T HEAH BE &

(3) T 1 HUd BeE &

(4) gr@-Tm A &

&g H dr@Te e RO BT & 7
(1) STE-TATEH TS TCHTTS

(2) TS NS SIS HOHIETS
(3) IFHURIEETE

(4) HrfH

| 163. State of India which has highest area
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164.

165.

[
=)
[=a

under certified organic agriculture
(1) Rajasthan

(2) Madhya Pradesh

(3) Gujarat

(4) Uttar Pradesh

Magnesium content (%) in calcium

nitrate  fertilizer

mentioned in F.C.O., 1985 is
(1) 2.5%

() 3.5%

(3) 4.5%

(4) 5.5%

ammonium as

In which agro-climatic zone of India
“The soils are mostly alluvial and are

prone to floods” ?

(1) Lower Gangetic plains zone

(2) Middle Gangetic plains zone
(3) Upper Gangetic plains zone

(4) Trans-Gangetic plains zone

. Pungency in Garlic is due to

(1) Diallyl di sulphide

(2) Allyl-Propyl-di sulphide
(3) Isothiocyanate

(4) Solanin

00
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(1) 3m%g

(2) ATeen

(3) |a

4 =

3T <hY 3ThT TR fohEr & S &
(1) dTYee} X FAeHaT

(2) THE x gerE
(3) THH x Ffrem

(4) ITHFE X Hem

“31eh1 g foreehl v fper 2 7
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169.

170.

167. Which fruit plant bears capsule type of

fruits ?
(1) Guava
(2) Aonla
(3) Apple
(4) Ber

The parent of Arka Aruna variety of
mango are —

(1) Banganapalli x Alphanso
(2) Rumani x Mulgoa

(3) Rumani x Neelum

(4) Alphanso x Neelum

“Arka Harit” is a variety of —
(1) Tomato

(2) Pea

(3) Bitter gourd

(4) Brinjal

Petal burn in Chrysanthemum is due to
deficiency of which nutrient ?

(1) Copper
(2) Boron
(3) Calcium

(4) Potassium

. Acid percent in jam is —

(1) 0.1t00.2
2) 0.5t00.6
(3) 09t0 1.0
(4) 1.5t02.0
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| 173.

174.

Black heart is a common physiological
disorder of which vegetable ?

(1) Tomato
(2) Potato
(3) Okra

(4) Radish

Gerbera is propagated by —
(1) Division

(2) Corm

(3) Rhizome

(4) Runners

Which variety among the following is
suitable for extraction of capsaicine ?

(1) Aparna
(2) Muslabadi
(3) PusaJwala
(4) X-235

. “Flaming Sunset” is a variety of —

(1) Rose

(2) Chrysanthemum
(3) Marigold

(4) Gerbera

. Propagation method of vetiver is —

(1) Clump
(2) Budding
(3) Grafting
(4) Corm
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178.

179.

180.

was discovered by
(1) Jenkins
(2) Correns
(3) Rhoads
(4) Burton

In Oenothera spp heterosis is naturally

fixed through
(1) Apomixis

(2) Balanced lethal system
(3) Vegetative propagation

(4) Mutation

Male sterile line Tift 23 A is related to
(1) Wheat crop

(2) Pearl millet crop

(3) Rice crop

(4) Maize crop

which
pairing

the
homologous

In  wheat, Ph gene
suppresses
between chromosomes is located on
chromosome

(1) 5B

(2) 5D

3) s5A

4) 5C
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